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From 8610' to 8682' = 4 hr, Test Opened Tool W/Good blow air,

Gas to swrfoce in 5 minates. For 3 hrs Gas Volure 877,000 CFID

Lth Er. Gas Vol 853,000 CFD, o “luid to Surfzce. Closed Tool
for Build Up, Recovered 450! Hesvly Ges cub Drlgz. lud ii/Trace Dist.
sbove TC Valve & 3' Diet, below TC Valve

From 810" to 8885'-2 hours & 20 i4n Test. Opened Tool #{/Few bubbles
air, Closed tool & reopened “i/Few bubbles air & died. Closed tool for
BU. Recovered 30' Drlp. Iud W/HWo Shows Cil, later, or Gas,

From 9045'=9163! = 4 licur Test. Opened Tool #/Good blow air. Gas to Surface
in 30 minutes. first 2 hrs Gas Volume 12,846 CFPD 2 end of 3 hr 16,890CFED

s End of Lth hr. 17,79C CFPD. No Fluid to Surface. Closed Tool for Bulld Up
Recovered 196! 5li~ntly Gas cut dflz. & ¥ud above IC Velve & 200' Sli htly Cil
eut drle. muc below TC Valve, o Free vile

From 9163' to 9210' = L hour Test. Opened tool W/Fair blow air. Gas to
Surface in 2 hours & 10 Min, Gas Volwe TSTH. Closed Tool for Build Up.
Recovered 385! of gos cut salt veter s mud, & 1445 of Ges cut Salt .ater
abovs TC Valve. & 60! of ges cut Salt vmter below TC Valve.

Fromw 9875' to 9920'-5 hours & 45 lHin lest. Opened Tool W/Good blow air.

Gas to Surface in 4 mia. Vol 756,330 JFfD. 01l to Surface in 1 hour & 45 min.
Flosed 51.12 bbls Uil J-Water in b hrs Uas Volume 756,830 CFFD GOR Based on
8nd lir 1,30 Gty Lk.3 Corrected. Closed Tool for Bulld Up. Reversed out
23.54,6 bbls 01l no Yater. Recoversd beiov TC Valve 55' free il no show witer

DEAVIATICH SURVELS

150" - 1/2 des.
325 = 1/2 der.

1575 - O deg.
2000' - 1/2 der.
2290" - 1/2 deg.
2650" - 3/l des.
L
2o =3 e
3670 - 1/2 des.
LOLDY - 1/4 dez.
5,295' - 1/l dez.
zzézg" - %/L, der.
L960" - 1/2 deg.

5205 - 1/L deg.
54,50 - 1/L deg.
570! - 1/2 dez.
5925' - 1/l dsg.
6180* - 3/L deg.

6425 - 1  deg.
G T
73&@ - 1/2 deé
b Sy

l' - ‘hgc
8230 - 1/L deg.
8375 - 1/L deg.
430" - 1/2 degf.
a763' - 1/1, deg.
3330 - 3/L des.
9015' - 1/2 der.

9155' - 1/2 des.
93*%‘ - l GEE.
953G' - 3/L deg.
9615 = 3/L deg.
9732' - 3/L deg.
9308t - 1/L dez.



